MODEL QUESTION

5TH SEMESTER HONOURS
DISCIPLINE : PHILOSOPHY
COURSE NAME : WESTERN LOGIC-II, COURSE CODE : BAHPHILC502

A. 1 and 2 and 5 marks questions :
1.Define set((‘ﬁ% LGB U3 )
2.How is an empty set symbolically denoted?(élagl% *IT S RIREIR) ()
MITROP AP AP F1=A?)
3.Is this true : {Elizabeth 11} = Elizabeth II?(&BT%W?)
4.What is binary relation?(z‘awlﬁ)[ ST 100 [ (QIKI?)
5.Give an example of a family relationship which is asymmetric.(élﬁﬁ%
ARAREH T=ET Tz W8 (I asymmetric)
6.Define reflexive relation.(RAFH P AJCH] AHE( AAIN PJI)
7.1f v ={1,2,3}, A ={1,2},then what is the value of ~A?(5Iﬁ:_l Vv={1,2,3},
A={1,2}2T, [ ~A-4F YeTs {35?)
8.What is meant by the intersection of two sets? State symbolically.(ﬁ ERIE
B JeI00 [P (FRITALTF 0P AP [Ig© F41)
9.Give an example of a family relationship which is both transitive and
intransitive.(él?ﬁi% AR ST=HET O W18 (M transitive 433
intransitive '@Gﬂ?l)
10.1s the set {{1,2,3}} identical with set {1,2}?({{1,2,3}} A F {1,2} CRIE
B [CACICER)
11.When is a relation R transitive in the set A?(PYN JF0 TTHR (& A
(ANIARFCS ALFINF TTF I 2T?)
12.What is meant by the relative product of the binary relations R and S?(R 4<% S
42 (GO STTHACIT WCAHS QTHe I0® ([ ([RTA?)

13.Translate the following into symbolic form?(a) No Americans are
philosophers.(b)A philosopher drinks neither tea nor coffee. (c)Some Indian

philosophers are theists.(d)All mathematicians are Iogicians.(ﬁﬁf‘z*rr‘il@
IENRBfATF S(HFOP AP ATTTS FH:(F) (FIN AT W




TR | (1) GG TR BT WA B [FR2 AN FEN N (5 (PN
(F oo T NF T HYFIM (D)FFA NfToss 2 SF*NHRIN)

14. State the principle of extentionality for sets.((.'él'gi)f R CESIIAVICENE
>1aft Rge 1)

15.When a set A is called a proper subset of set B?(PUN J3F6 (N A (5 ™)
G356 WA B-47 TAIY TATHA 77 TT?)

16.Give an example of a set whose members are themselves sets.(él??% LRIES

THIEA WIS TR TS IF JHT0 (A )
17.1f A be the set of all positive integers and B={4,6},determine the value of

A~B.(TM A TT 5T5e1 UL 74 ST 4T (NN, q9¢ B={4,6},S(IA~B-IJ N~
EREEEI)

18.Represent the diagram that two sets are mutually exclusive.(ﬁﬁ? RN (T
NI ARG 9 FBrad SR BHFe F1)

19.When do are call A a subset of B? State symbolically.(FIN B0 (AN A (F
W A6 (YN B I BATHAT I TT? A(HOP NHIA [F© A1)
20.1f A={3,4}, B={Kapil,Saurav}, What will be the cartesion product of there two
sets?(IM A={3,4}, B={Kapil,Saurov}= O Rl Eﬁ??f FIOAT BVFA Bl
A7)

21.What is meant by union of two sets A and B? Formulate symbolically.(ﬁ[ﬁ
T A 9]¢ B IF Y@ IATO [F ([RTT? SF 0P NHFIK [Fo F41)
22 When is a relation R symmetric in the set A?(PAN JF0 AFH R JH6 A
A (S ST TT?)

23.How will you define an equivalence relation in the set A?((<RI~ JHI6 (N A

(O ANNNO TRCHS A8l fF =)
24.1f xFy means x is father of y, XMy means x is mother of y, when does it mean to

say that x(F/M)y?(T™ xFy I3 W =T x T y 47 Q1,933 xMy 7 =Y =T x
= y 9 WO x(FIM)y 97 = fF7)

25.What is meant by domain of individuals?(wm SCIACNES (QIAI?)
26.State AC P in otherequivalent way.( A= P (F STAAF TN (FNOII B
1)




27.Letting A={1,2},B={{3,4},1,7},final the value of A n B.( A={1,2}4<}
B={{3,4},1,7}.2(A A N B4R NI~ T 1)
28.Give a counter example which proves thefollowing statement to be false: g0
RTATR 7B@ W18 RIS IGO0 N WY HFCA|
A& B and B& C -A& C
29.Which of the following is a relation?

(@)< Plato,3 > ,(b){< Plato,3 >}
30.v={6,7,8,9,10},A={6,7},B={7,8}

What will be the value of~An ~B
31.Prove that the relation of membership is neither symmetric nor transitive.(&NT9
P AT WW@W R A@PINP ATHS 1)
32.Prove the validity of the following inclutions; N N=eIfd® W@\ér@@ﬁﬂ
CILOT ANV FA ;(a)AC AUB, (D) (ANB)~(BNC) S A
33.A={1,2},B={1,3,5},C={2,3,5,7},D={4,5,6,7}

Find the value of the following with respect to the above mentioned sets: (a)
D~[CNn (AUB)] () (AUB)N (CUD)
34.LetV be the set of all positive integers and let A=set of all even positive
integers, B=set of all positive integers greater than io, and C=SET OF ALL
POSITIVE INTEGERS LESS THAN 15.Findthe values of the
following:~(C~B),A~(~BuU ©).
35.Test the validity of the following argument by means of Venn diagram.State in
terms of regions of the diagrams why the argument is valid or invalid.(ﬁ'ﬁﬁf@l@

LSO (ILO-WLILOT (G Hrad AR [N FF LSO @ (I AT
WLIEol wron 5rg fofqe [Rfon Wt [iHte [igoe F1:

All liars are prejudiced.(A1<PeT ERNEIEEY HAFAOLD) |

Some witnesses are not liars.(CPIN (PIN IESEE| ﬁfm I

~Some witnesses are not prejudiced.(CPTN (PRI WWWW@ I
36.Determine whether the following assumptions are mutually
consistent; (VRIS T 27 ooy o RefT T390
AcC C
AN C =A
AN B #A




BN C =A
(AN C)~B =A
(AN B)~C =A
(ANB)UANC)U(BNC) #A
37.Define with suitable examples strict partial ordering and simple ordering

relations. (JATIY HHF [RATHTF A2 S [P T I fF (QRIT
©F BRI JRIICH o F41)

38.Which among the following relations is and example of a quasi ordering
relation :

“="and" €.

fARfEfde SRR T (FWI0 S [N ST9:

“Cc"and" €.

39.Represent ‘AC B'by means of diagram.

‘AC B' (3 fora SR SozifHe F4|
40.Which of the following statemens are true(for all sets A,B and C)?

(AB,C YT CFra RS (W I5SE To5)

@IfAc Band B € C,then AC C. (b)If A€ Band B c C,then A c C.
41.If R and S are relations, what is meant by ‘RN S'an'R U S'?
42.Prove the following identities:(ﬁ'ﬁﬁf@lﬁ WfoNONefe] AT <Pq)

(@ A~(ANB) = A~B, (b)AU ~A =V

43.Give an example of sets A,B,C,D satisfying the following
conditions(A,B,C,D-5IAID (R GHIRAY WIS WA MRS *[ oo
AWE®GT:) AcB, BeEC,CcD, D=E
44 . What is wrong with the following argument:

Socrates is a man. Men are numerous. Therefore, Socrates is numerous.
45.0f itisgiventhat A € Band C N
~B,what relation can be concluded to hold between A andC

@M Ac B g7 C n

~B I O(FAGIY C ﬂﬁWW@WWﬁ‘Y@WW)
46.A={1,2},<5,10>,<2,3>,<1,3>,<4,4>}
B={<1,2><2,1>}




What properties of reflexivity,symmetry and transitivity does of the relations
stated above have in its own field?(@@"i@ CEIRCREED 11% INIHPB, W@[
1 PP fFA1 o +41)
47.Define with help of example the converse of arelation. (SRR HAIRICTY
GHfG STNHT IR ST Seeaiiie 1)
48.A={1}, B={1,{1}}, C={1,2}, D={1,2,{1}}, E={1 {1 {1}}

(a)Find the following with respect to the above mentioned sets:(@ﬂ'(?l’ NEIRY
MR ARty AR Ranefam = [t se

(F)(CUuD)~E,(D{A}nB,(DN(AUB)NnC,(DH{B}NE.

(b)Determine which of the following statements are true:(ﬁ'ﬁﬁﬁl@ EDIRIGE
(e STo of R F90

(F)Cc D, (B c D,(NB~A € D,(¥(E~B) c A.
49.A={1,2,Robin Hood}

Determine the quasi-ordering relation of the set A.(A ANT Y R[{ATHE
STHEC g F91)
50.A={<1,1>,<2,2><3,3>}

B={<1,2>,<2,1>}
List the members of::B/A
Is A/B=B/A(B/A-I TSR SIEY F1A/B=B/A 46 fF T2




